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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 5 printed pages.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 25 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 5 gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 25 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

BUSINESS STUDIES

O;kolkf;d v/;;uO;kolkf;d v/;;uO;kolkf;d v/;;uO;kolkf;d v/;;uO;kolkf;d v/;;u
Time allowed : 3 hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :

(i) Answers to questions carrying 2 - 3 marks should not exceed 30 - 40 words.

(ii) Answers to questions carrying 4 - 5 marks should not exceed 60 - 80 words.

(iii) Answers to questions carrying 6 marks should not exceed 100 words.

(iv) Attempt all parts of a question together.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(i) 2 & 32 & 32 & 32 & 32 & 3 vadksa okys iz'uksa ds mÙkj 30 & 4030 & 4030 & 4030 & 4030 & 40 'kCnksa ls vf/kd u gksaA

(ii) 4 & 54 & 54 & 54 & 54 & 5 vadksa okys iz'uksa ds mÙkj 60 & 8060 & 8060 & 8060 & 8060 & 80 'kCnksa ls vf/kd u gksaA

(iii) 66666 vadksa okys iz'uksa ds mÙkj 100100100100100 'kCnksa ls vf/kd u gksaA

(iv) fdlh iz'u ds lHkh Hkkx lkFk&lkFk gh gy dhft,A

1. How does marketing create demand for products and services ? 2

foi.ku] mRiknksa ,oa lsokvksa dh ek¡x fdl izdkj l`ftr ¼mRié½ djrk gS \

2. What is meant by  the 'product concept of marketing' ? 2

^foi.ku dh mRikn vo/kkj.kk* ls D;k vk'k; gS \

3. State any two functions of top-level management. 2

mPp&Lrjh; izcU/k ds dksbZ nks dk;Z crkb,A
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4. What is meant by 'social environment' of business ? 2

O;olk; ds ^lkekftd okrkoj.k* dk D;k vFkZ gS \

5. Enumerate any two functions fo a supervisor. 2

i;Zos{kd ds fdUgha nks dk;ks± dh x.kuk dhft,A

6. “Efficiency and productivity depend upon the quality of leadership.” Do you agree with
this statement ? Give any three reasons in support of your answer. 3

^^dk;Zdq'kyrk ,oa mRikndrk usr`Ro dh xq.koÙkk ij fuHkZj djrs gSaA** D;k vki bl dFku ls lger

gSa \ vius mÙkj ds leFkZu esa dksbZ rhu dkj.k nhft,A

7. Enumerate any three company related factors that should be kept in view while deciding
the choice of channels of distribution for any product. 3

fdlh mRikn ds fy, forj.k ek/;e dk pquko djrs le; ftu dEiuh lEcU/kh ?kVdksa dks /;ku esa

j[kuk pkfg, muesa ls fdUgha rhu dh x.kuk dhft,A

8. State any three objectives of sales promotion. 3

foØ; lao/kZu ds dksbZ rhu mís'; crkb,A

9. An organisation follows the principles of management. What are the adverse effects of
each of the following principles of management on the organisation : 3

(i) Unity of command

(ii) Order

(iii) Stability of tenure of personnel

,d laxBu] izcU/k ds fl)kUrksa dk ikyu djrk gSA izcU/k ds fuEufyf[kr izR;sd fl)kUr ds laxBu

ij izfrdwy izHkko D;k gksrs gSa %

(i) vkns'k dh ,drk

(ii) O;oLFkk

(iii) deZpkfj;ksa ds dk;Zdky esa LFkkf;Ro

10. Why is it important to motivate employees in an organisation ? Give any three reasons. 3

fdlh laxBu esa deZpkfj;ksa dks vfHkizsfjr djuk D;ksa egÙoiw.kZ gS \ dksbZ rhu dkj.k nhft,A

11. You are the representative of workers in your factory. Which method of wage payment —
time-rate or piece-rate — would you prefer for your colleagues ? Explain in brief any
four reasons in support of your answer. 4

vki fdlh dkj[kkus esa Jfedksa ds izfrfuf/k gSaA vki vius lkfFk;ksa ds fy, et+nwjh Hkqxrku

dh dkSulh fof/k — le;kuqlkj vFkok dk;kZuqlkj — pqusaxs \ vius mÙkj ds leFkZu esa dksbZ pkj

dkj.k la{ksi esa le>kb,A
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12. Distinguish between Capital market and Money market on the basis of (i) Participants,
(ii) Instruments traded, (iii) Investment outlay, and (iv) Safety. 4

(i) lgHkkxh] (ii) ysu&nsu fd, tkus okys izi=kksa] (iii) fofu;ksx ifjO;;] ,oa (iv) lqj{kk] ds vk/kkj

ij iw¡th cktkj rFkk eqnzk cktkj esa vUrj Li"V dhft,A

13. “Securities and Exchange Board of India (SEBI) is the regulatory authority of the securities
market.” Do you agree ? Explain in brief any four reasons in support of your
answer. 4

^^Hkkjrh; izfrHkwfr ,oa fofue; cksMZ ¼lsch½ izfrHkwfr ckt+kj ij fuxjkuh j[kus okyk izkf/kdkjh gSA**

D;k vki lger gSa \ vius mÙkj ds leFkZu esa dksbZ pkj dkj.k la{ksi esa le>kb,A

14. Describe,    in    brief,    Taylor’s   principles   of  (i)   separation of planning and operational

work, and  (ii) science, not the rule of thumb. 4

Vsyj ds fl)kUrksa (i) fu;kstu ,oa dk;kZRed Lrj ij dk;Z dk i`Fkd~du] ,oa (ii) foKku] u fd

:f<+okfnrk] dk la{ksi esa o.kZu dhft,A

15. Define the term 'Organisation Structure' and enumerate any three considerations to the
kept in mind while building an organisational structure. 4

^laxBu <k¡ps* dh ifjHkk"kk nhft, rFkk ,slh fdUgha rhu ckrksa dh] ftUgsa laxBu <k¡ps ds fuekZ.k ds

le; /;ku esa j[kuk pkfg,] x.kuk dhft,A

16. “Controlling helps in  monitoring  sales  and  coping with  organisational  complexities.”
Explain this statement in brief. 5

^^fu;U=k.k] foØ; ekWuhVj djus esa rFkk laxBukRed tfVyrkvksa dk lkeuk djus esa lgk;rk djrk

gSA** bl dFku dh la{ksi esa O;k[;k dhft,A

17. Explain briefly any five factors that affect the capital structure of a business enterprise. 5

fdlh O;kolkf;d m|e ds iw¡th ds <k¡ps dks izHkkfor djus okys fdUgha ik¡p ?kVdksa dh la{ksi esa

O;k[;k dhft,A

18. You are a newly appointed finance manager in the company and you found that the
company is badly affected by over-capitalisation. The directors do not agree with your
findings. Convince the directors by giving any five effects of over-capitalisation on the
company. 5

vki fdlh dEiuh esa uo&fu;qä foÙk izcU/kd gSa rFkk vkidks irk pyk fd dEiuh cqjh rjg ls

vfr&iw¡thdj.k ls izHkkfor gSA funs'kd vkids fu"d"kZ ls lger ugha gSaA dEiuh ij vfr&iw¡thdj.k

ds dksbZ ik¡p izHkko nsrs gq, funs'kdksa dh larqf"V dhft,A

19. “Management is regarded as an art.” Do you agree ? Explain the reasons. 5

^^izcU/k dks dyk dh Hkk¡fr le>k tkrk gSA** D;k vki lger gSa \ dkj.k le>kb,A
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20. Explain briefly any five positive impacts of globalisation and liberalisation on business
and industry in India. 5

Hkkjr esa O;olk; rFkk m|ksx ij fo'oO;kihdj.k ,oa mnkjhdj.k ds dksbZ ik¡p vuqdwy izHkko la{ksi esa

le>kb,A

21. Explain any six qualities of a successful salesman. 6

OR

You are the advertising manager of a business unit providing catering services for
supplying food and snacks at the doorsteps of consumers in a metropolitan area. Which
media of advertisement would you choose to advertise your product ? Give any five
reasons in support of your answer.

fdlh lQy foØsrk dh fdUgha N% fo'ks"krkvksa dh O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

vki fdlh ,slh O;olkf;d bdkbZ] tks ,d egkuxj {ks=k esa miHkksäkvksa dks Hkkstu rFkk tyiku ?kj

rd igq¡pkus gsrq Hkkstu izcU/k esa yxh gS] ds foKkiu izcU/kd gSaA vius mRikn ds foKkiu gsrq vki

foKkiu ds dkSuls ek/;e pqusaxs \ vius mÙkj ds leFkZu esa dksbZ ik¡p rdZ nhft,A

22. Explain, in brief, any six ways and means of consumer protection followed in India. 6

OR

Explain, in brief, any six functions of consumer organisations in the area of consumer
protection.

,sls fdUgha N% mik;ksa ¼rjhdksa½ dh la{ksi esa O;k[;k dhft, tks Hkkjr esa miHkksäk laj{k.k ds fy,

viuk;s tkrs gSaA

vFkokvFkokvFkokvFkokvFkok

miHkksäk laj{k.k ds {ks=k esa miHkksäk laxBuksa ds fdUgha N% dk;ks± dh la{ksi esa O;k[;k dhft,A

23. Explain in brief, the meaning of ‘Planning’ and any five characteristics of planning. 6

OR

‘’No enterprise can achieve its objectives without systematic planning.” Do you agree ? Give
any five reasons in support of your answer.

^fu;kstu* dk vfHkizk; ,oa fu;kstu dh fdUgha ik¡p fo'ks"krkvksa dh la{ksi esa O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

^^dksbZ Hkh m|e Øec) fu;kstu ds fcuk vius mís';ksa dh izkfIr ugha dj ldrkA** D;k vki

lger gSa \ vius mÙkj ds leFkZu esa dksbZ ik¡p rdZ nhft,A
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24. Why are external sources of recruitment better than internal sources of recruitment ?

Explain briefly, any six reasons. 6

OR

Why is staffing an important function of management in all the organizations ? Explain
in brief, any six reasons.

HkrhZ ds cká lzksr HkrhZ ds vkUrfjd lzksrksa ls D;ksa csgrj gSa \ la{ksi esa fdUgha N% dkj.kksa dh

O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

lHkh laxBuksa esa fu;qfädj.k izcU/k dk ,d egÙoiw.kZ dk;Z D;ksa gSa \ dksbZ N% dkj.k la{ksi esa

le>kb,A

25. Distinguish    between    formal    and    informal    organisations    on    the    basis   of
(i) Purpose, (ii) Stability, (iii) Adherence to rules, (iv) Tenure, (v) Flow of authority, and

(vi) Communication. 6

OR

“Delegation of authority helps in reducing the workload of managers and in motivating the
subordinates.” Explain this statement.

(i) mís';] (ii) LFkkf;Ro] (iii) fu;eksa dk ikyu] (iv) dk;Z&dky] (v) vf/kdkj izokg] ,oa (vi) lEizs"k.k]

ds vk/kkj ij vkSipkfjd rFkk vukSipkfjd laxBuksa esa vUrj Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

^^vf/kdkj izR;k;kstu izcU/kdksa ds dk;ZHkkj dks de djus esa rFkk v/khuLFkksa dks vfHkizsfjr djus esa

lgk;rk djrk gSA** bl dFku dh O;k[;k dhft,A
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